R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB)\C - Drawings\TX-4696.99.dwg, TX-4699

Opaque Fiberglass Door

Endura

PERFORMANCE STANDARD

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code (IRC), Sections R301 & R609 and the 2018
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Slidelte panel details (lip lite insert glazing)

Horizontal cross sections

Vertical cross sections

Vertical cross sections

N|ocjo|Ah|[w|N

Frame anchoring

112.25" MAX. OVERALL

FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

©@ 0O

i

oy

e 7]

2o 0 14

Ex o o

S Bz

Nu O M o

c Z z

e T N W
.o

c L |

52 oo 32

: <29 0o

U FTWn =2

3 LHge @
:>,.,(n
n ,_H-_l
Zowo

>N °"’..n:

& owo.n_

o %gzh.

L Sme ©

g 324559

3 Do..cg

s Doa g
=

[}

Lo

c

o e:

E g

3

0

0

[

CERTIFICATE OF REGISTRATION # F—11852

OXO

INSWING +45.0

-45.0

OXO

OUTSWING +35.0

-35.0

0
==
52
<
&
=
< o=
o v =l
> <©
S | ug
&5 = -
ol @
al e
<?('%
= x 9(/)
5 S| &£
o el X
@ < o
[a o
o >
Ll o
L
Q
)
&[0
&)
8|
=[]
S|®d| |»n
: z
o|® 1O
R 2
£l @
5P| [
&
kS
T
2
8|3
<
(o))
= |w
3| |z
NE=
-l lo
z
OATE: 5/11/17
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4699

SHEET 1 oF 7

© zo17 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK, DB)\C - Drawings\TX-4696.99.dwg, 2.4

DOOR SKIN: FIBERGLASS {0.085" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

HINGE STILE LATCH STILE
(LAMINATED WOOD) (LAMINATED WOOD)
/ EXTERIOR 0.98" /
16— INTERIOR —1.43 ]
WOOD LOCK BLOCK
21" LONG
/ 1"\ HORIZONTAL CROSS SECTION ‘ )
35.75" MAX. 2
PANEL WIDTH U
. 2475'MAX
D.L.O. WIDTH
>
—] GLASS BITE 5/8"
/\ // ——— 1" NOMINAL GLASS THK.
1 V/ = BACKBEDDING )
W i SEALANT? 1/8" TEMPERED GLASS
N AR SPACE
= T |~~~ 1/8" TEMPERED GLASS
0 5
N0 ALUM SPACER
3 iLs
m I
Z 0
= 5 X 1) GLAZING DETAIL
& 0O Flush Glazing
3 &,
o :
5 R X
o~
SEE HARDWARE
TABLE
/
Vi
/
1
@
MASONITE
VistaGrande Flush Glazed KWIKSET LATCH: KWIKSET SIGNATURE SERIES {991)
Fiberglass Door Panel DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)

ORI bf
-s’.c;::"‘ff“g t a g
F oS £3 0
,:’ J‘."..A 555 u,’.. % %9 0 5%
TOP RAIL S8 iS5l & g* 8 ¢
(LAMINATED WOOD) G i b (PN WL ouw gm S
POl YA iy 2 wt = el
Iy W i io & SRS w
| 20 iziQ o c c 2
A Tyl NG ) o0&
3{\?‘ Hex 2 o s 53
= 5 58 n
g *yis 2>
i & Zgo 45
- -\“:\:\ 6‘ ON‘: oo
i~ § oy
g o % 3% .
. [ £0y OloL
g gdé g
DOOR SKIN i ¢« oot 3%
2 § CDE
8 & gg
B £ @ b
: £ o
8
[s]
w
=)
=C
L
< 2o
o SRS
> g
2 ==
IREES
Lo
INTERIOR EXTERIOR ol O
T T <} ©
/@ § 2
’—
(o] o
& P
wn
4l &
Ly
o
Qo
B0
3|E
£lo
S|g| |
:CDE 9
Elo| |»
&Y
IOl oz
FOAM CORE |i: .gm
= AL
7 =
S N
U - <
N 2 |
}._
D |«
1 N
BOTTOM RAIL /§ § s |2
(COMP.) - T3
z
———1.75" —= ATE: 5/11/17

@ VERTICAL CROSS SECTION
2

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4699

SHEET 2 OF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



141 '{S (4]
LATCH STILE 5i o
HINGE STILE iof e "
(LAMINATED WOOD) (LAMINATED WOOD) TN £ . By
EXTERIOR TOP RAIL o B9 Me® B 27
— (LAMINATED WOOD) : auo gl 8
-3 1= o a. 3 N gl
AT ~ | S G\t lse g5s 3T
( : T agAN B 28 23
ﬂ‘ g"""'()% 3 é ) - QE
" PN el Zow 58
e ! : ‘ % i 5 8% s gg
e - S 2 §i% sy
\—— | ot 1 ot ) ) o
163 INTERIOR 163 2 295 g
a. Q
SIDELITE SKIN : s 83
1\ HORIZONTAL CROSS SECTION S~ 5 = gg
35.75" MAX. 3/ E 4
PANELWIDTH — 2
. 4T5'MAX ,
D.L.O. WIDTH R
‘ B3
o0
<C e
o Lo bd0e
N /// GLASS BITE 5/8" M
/ . & |3 o=
\3/ / ~ A CKEEDDING 1" NOMINAL GLASS THK. INTERIOR EXTERIOR 7
] <€ LUJ
SEALANT \ 1/8" TEMPERED GLASS K x| Sq
i éAIR SPACE 2 o o3
=~ Z 2|z
E Q. a
Q = \ "
& § 1/8" TEMPERED GLASS o
2 = ALUM SPACER m
£ 3 X o8
o
< x 1) GLAZING DETAIL 2|0
= 32 Fiush Glazing N
] & Sig| |o
gz N~ =m i.i 9
SIS 2
,, tlo| |
y FOAM CORE || g=
/ ~l : Sl
S BV | _ , . A | L 8
/ iy I e 2
N N | |
N =
| k N 2] =
BOTTOM RAIL — | @S o |©
2 (COMP.) 178
e 1.75" —] oatE: 5/11/17
MASONITE SCALE: N.T.S.
VistaGrande Flush Glazed DWG. BY: JK
Fiberglass Sidelite Panel CHK. BY: LFS
° "2\ VERTICAL CROSS SECTION e
SIDELITE SKIN: FIBERGLASS (0.085" MIN. THICKNESS) \3/ TX—4699
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) ——

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB)\C - Drawings\TX-4696.99.dwg, 3.4

© zo17 R.W. BUILDING CONSULTANTS INC.



/ / /
1 .
Va VA ///
/ / / BACK-TO-BACK JAMBS:
" usionframe” "FusionFrame" (1 OR 2-PIECE)
MULLION
T andh ™~
hvd
VA NIV @ D) INTERIOR #10 X 2-1/2" PFH
: O 5 — WOOD SCREW
O X O #8 X 2-1/2" FH COURSE 0 [ | ENDURA WEATHERSTRIP (SEE NOTE 2)
4 2\| e THREAD DRYWALL SCREW O O (QEBD/PE 650}
- (SEE NOTE 1) DOOR PANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
\4 /| e / (QEBD/PE 650)
\4/ _
/ / / - g o [N _ X’
Va Vi Va x I ~ Z
/ / / R
q / #10X 3" PFH
> b d SIDELITE PANEL / #8X 2-1/2'PFH WOOD SCREW
#8 X 1" PFH SMS DOOR PANEL LATCH WOOD SCREW (s NOTE 1)

STRIKE PLATE

/ 5 73N\ 1N 2 (4 #8X 2-1/2" PFH WOOD SCREW
CORNER PADS NOZANCOANLY #8X 3/4" PFH SMS 4" HINGE EXTERIOR

(TYP.} 3\ HORIZONTAL CROSS SECTION m HORIZONTAL CRO;S SECTION
@ Outswing shown - Inswing also approved W Qutswing shown - Inswing also approved

"“1.5"_" <——]'5"———»

wOOD ) 4-3/8" FATBOY 4-3/8" FATBOY
X AN PINE MULLION PINE MULLION \
COMPOSITE \ INTERIOR ] 46X 2-1/2" FH COURSE
\ . #8 X 2-1/2" FH COURSE / ENDURA WEATHERSTRIP THREADSEDI?Lg?é_Ii SCREW
in o THREAD DRYWALL SCREW {QEBD/PE 650) ( )
N S| NIN Y PEENOTET) N DOOR PANEL ENDURA WEATHERSTRIP SIDELITE PANEL
- NI —% ‘ (QEBD/PE 650) g 4 o
‘ D ] [___} = % g;:.fs \‘ E::.‘ y/
D % t':"":. 5 ‘.d‘\ JIPI i1 FEPEEITIES ~y
0] ~ R ™ SN NNV N
- - ‘ ~ e “
) =D W e\ ) 51
g 2 =
25" 25— / / - - / \
FATBOY MULLION MULLION SIDELITE PANEL 48X 1 PEH SMS #8 X 2-1/2" PFH WOOD SCREW
PINE "FusionFrame” #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE
NOTES:
1. Spacing forsideffe scrows: 6.5, 35.5, 57.25" and 85" fom head fol (4 ofal, {1\ HORIZONTAL CROSS SECTION (2 \HORIIONTAL CROSS SECTION.
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total). W Qutswing shown - Inswing also approved v

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9187

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

HORIZONTAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

8/3/19 |ADD "FusionFrame” OPTION &

NO. DATE

1

REVISIONS

bATE: 5/11/17

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4699

SHEET 4 oF 7

R\Clients\Endura PERMANENT\B - Texas Dept of ins\TD} - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB\C - Drawings\TX-4696.99.dwg, 4.4

© 2017 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD} - DR-889 Masonite {(Sub ID 6923) FG VG GLAZED (LK,DB)\C - Drawings\TX-4696.99.dwg, 54

2X FRAMING 2X FRAMING 2ZX FRAMING OOy, an
G>=0.42 {G>=0.42) — RS vl 1 -
(G >=0.42) (G>=0.42) — Soriiot bk £3 2 o
"] M ——, Fl o~ D et e VP 13 e 0 ui 1
~ — BN SaxsT i5: Y Ex @ o
S A i {11 SIS gl iEi aZ2olwWl8y o8B 5T
i o T - 811 EXT. SHEATHING J|{|} Zoi (58 % \jg N - ; ~ 2
EXT. SHEATHING §/1/4 LI ExT. it e g&ifl i Sigd N LEo
{B Ny DRYWALL e T[] EXT: SHEATHING \ ) ™ 5o SR E AN £ 55 g
. DRYWALL T : ‘ / 1 |DRYWALLE 9% 10 FoRN|EF Z£8 00
1 : = M) # o (ié;/ N EQ : " (:/% ~ < 5‘ g :3} &
/ e it . il St "EZ ; ) %) - Eé
s , \ L7, QX i TS . §8° o¥
¢l | | | #10 X 2-1/2' PFH mt #10 X 2-1/2" PFH il _— 1111\}}&3;\«\?;\—:., & 88 o Eé
am L] WOOD SCREW P M WOOD SCREW N - 0 X2
A, i ’ & LI
SHIM SPACE 1 1/4" MAX. L i il i N . § 592 gp
\ 1 o SHIMSPACE\»“J' L g #10 X 3" PFH o moo 85
DZg ¥ T yd WOOD SCREW 2 :
SGE SoE 1/4" MAX. P @ gg
| SHIM SPACE 0ob0 \D—Eﬂ §
™~ HEAD: PINE [N HEAD: "FusionFrame" (1-PIECE) 2
: " HEAD: PINE =
#8 X 2-1/2' FH COURSE ENDURA WEATHERSTRIP 5
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW {QEBD/PE 650) &
(QEBD/PE 650) {SEE NOTE 1) g "
/4 EXTERIOR W 2 |38
EXTERIOR ™ INTERIOR INTERIOR EXTERIOR S INTERIOR NOTE ERS
. )
m VERTICAL CROSS SECTION m VERTICAL CROSS SECTION m VERTI.CAL CRO..SS .SECTION L. SPccing for sidelite screws: Q S
w Qutswing shown - inswing also approved \y Inswing shown - Qutswing also approved \y Outswing shown - inswing also approved &" from each end (2 total). £ x E
; 3 o &
O [id
& P
g Tz

0.75" —t<——-t 0.75" T_._l t—-———}— 0.75"
COMPOSITE
SNAP-ON
CA{\
2 ol
O
&
/
0 LvL
]
of
"J 1.25" l"-__.. 125 == _ | 1950 |l=e
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionFrame” "FusionFrame"
(1-PIECE) {2-PIECE)

174" MAX. S
SHIM SPACE 1/4'MAX.  #10X 2-1/2"PFH IS
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW ~lo
. x
JAMB: PINE DRYWALL JAMB: "FusionFrame” DRYWALL 25
\ / (1 OR 2-PIECE) / 58| |»
INTERIOR \ [ K NS
L / T e / S Ll 3
#8 X 2-1/2" FH COURSE \ #8 X 2-1/2' FH COURSE SP°|
THREAD DRYWALL SCREW VTR T A0 THREAD DRYWALL SCREW 2|
(SEENOTET) | . v (SEE NOTE 1) ; 5
\ \ Qo
<<
‘ ™ " ™\ o
N\ 2X FRAMING 2X FRAMING NS
\\\\\\\\\\\\\\\\\ (G >=0.42) (G >=0.42) N
-l o
‘‘‘‘‘‘‘ - b z
e [ A L A — DATE: 5/11/17
\ scat N.T.S,
SIDELITE PANEL SIDELITE PANEL owe. B JK
EXT. SHEATHING EXTERIOR EXT. SHEATHING CHK. 8  LFS
("4 HORIZONTAL CROSS SECTION /5" HORIZONTAL CROSS SECTION R N g

W Outswing shown - Inswing also approved

W Outswing shown - Inswing also approved

SHEET 5 oF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DBAC - Drawings\TX-4696.99.dwg, 6.4

DOOR
PANEL AN

(DBK-R)

- _ A\
ENDURA DOOR /
; DOOR SWEEP PANEL

ENDURA

DOOR SWEEP

/ [DBK-ZAC)

00000

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

7”2\ VERTICAL CROSS SECTION

ENDURA WEATHERSTRIP

#10 X 2.5" PFH WOOD SCREW OR
1/4"' X 2-3/4" ELCO OR iTW CONCRETE SCREW

/"3 \ VERTICAL CROSS SECTION

71"\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD

DRYWALL SCREW s
(SEE NOTE 1) N\l
INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

/“ 4\ VERTICAL CROSS SECTION
W inswing configuration

R ——
T)INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD
1AIL4565 ZAI4565FN
| 456" 1
2 | INSWING ARTICULATING THRESHOLD 7\ INSWING ARTICULATING THRESHOLD

ZACL4565 ZACA565FN

k.
~
bl 456" |
17) QUTSWING THRESHOLD 19 OUTSWING THRESHOLD
ZOBL4565 1OB4565FN

b 4.56" ! [l 456" ! !
@ INSWING ADJUSTABLE THRESHOLD ) INSWING ADJUSTABLE THRESHOLD P
ZAILAA4565 ZAIAA4565FN

W inswing Articulating Threshold

& / Outswing Bump Threshold
SIDELITE \:72*“ - N :
o (1002003)

.

#8 X 2.5' COURSE THREAD — L2412} fL;_E)A ’
EXTERIOR \‘ LNlER_DE

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
\6/ Qutswing configuration

NOTE:

&' from each end {2 total).

456" l

INSWING ADJUSTABLE THRESHOLD

LAI4565RDS

INSWING ARTICULATING THRESHOLD 9

456" ! f
INSWING ARTICULATING THRESHOLD

&
4.56" [

ZACLAA4565

IACAA4565FN

—=i 1.49"

— 4.5

6" !
THRESHOLD

13 OUTSWING
ZOB4565RDS

10 INSWING ARTICULATING THRESHOLD

ZIAC4565RDS

* Spacing for sidelite screws:

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—-11852

Documents Prepared By:

VERTICAL
CROSS SECTIONS

ENDURA

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

9/3/19 |ADD "FusionFrame” OPTION &

1

NO.{ DATE

REVISIONS

oATE: 5/11/17

ScAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~-4699

SHEET 6 oF 7

@ 2017 R.W, BLILDING CONSBULTANTS IND,



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-889 Masonite (Sub ID 6923) FG VG GLAZED (LK,DB)\C - Drawings\TX-4696.99.dwg, 7.4

H]
UL )
s @ HEAD ANCHORS: S éu‘“z, o5 0
06% 2ZX FRAMING #10 X 2-1/2' WOOD SCREW (PINE JAMB) LI LN g8, fo
oo (BY OTHERS) ¢ #10 X 3' WOOD SCREW (1-PIECE JAMB) I £= g 4o
<=8 \ o : JAMB ANCHORS: iDim o S LN
A (mp) ¢ & #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) i i g W LG8 Uy
| = () (TYP.) #10 X 3" WOOD SCREW (1-PIECE JAMB) O g - R4 53 £o@ E
! - : an o, 191 ¥ Sk 5z8 52
1 SEE HINGE I TN T 11 Ny ?ae{é"n.,}z P 333 Qé
DETAIL 1 . o wix g &0
3 SEE DETAL 1 . 3 952 .k
¢ o £ g§%g ¢
« z Z § 592 B
8 o & nod gx
g [+°4 ° m
% J_ j 1 == =29 \ F = :
S E ) IE % 2 - sex21/2PHwWs [E &Y
5 0
N Iy 8 o T rey 8
z " é/‘ - *~ <
5 . —— g #BXTPRHWS <o [ @l ™~ 48X 3/4" PFH WS
@ 1 4" X 4" HINGE
BB SEE HINGE 1 \ o
DETAIL 2 P\ - g
A1 SEESTRIKE~ |, HINGE DETAIL 1 z |3
— PLATE DETAIL i 5 172
. wn L I
SEE DETAIL 1 & \ o 3
1 /| * = | #8X21/2'PFHWS | . | E
Ei { L] S ©
- — . o 11| o
. ' Ll ] ’/\' L ! sox1prHws <o [l S ? |5
1] > vy S 1 — R o HlodF=i= #8 X 3/4" PFH WS
% 4 (TYP) SILL ANCHORS: \'\\— 4"X 4" HINGE 2 1%
2" (TYP.) #10 X 2-1/2" PFH WOOD SCREW \ "
& 1/4' X 2-3/4" ELCO OR S
HINGE JAMB FLOOR SUBSTRATE MATERIAL TW CONCRETE SCREW STRIKE JAMB HINGE DETAIL 2 9)©
CONCRETE (MIN. 3000 PS) FRAME Acg\)l(gHORING e
- =
JAMB NOTES: WOOD (G >=042) - DEADBOLT SECURITY 58| o
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. * NOTE: THESE ADDITIONAL ANCHORS #10X 3" PFH WS <= STRIKE PLATE =g ) %
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. ARE REQUIRED FOR D.P. > 40 PSF. 5 S 2
INTEGRAL MULLION NOTES: , £ |
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE *Fusionframe" BACK-TO-BACK #8 X 2-U/Z'PRH WS ——= LATCH STRIKE 2l
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. B PLATE =g
. . . . . . -
CONCRETE ANCHOR NOTES: e
1. Concrete anchor locations at the corners may be adjusted to maintain the min. STRIKE PLATE DETAIL :
edge distance to mortar joints. . #10 X 3" PFH WS NEm
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #10 X 2-1/2" PFH WS (4 PLCS) Q=
maintain the min. edge distance to mortar joints, additional concrete anchors #8 X 2-1/2" COURSE /\ )
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. THREAD \ n ;_5
DRYWALL SCREW K T T
&~ o - Ny My "
:'\‘ T~ NN N\ &2 § N § SCALE:  N.T.S.
Q § * @ &e DWG. BY: JK
CHK. BY: LFS
® " .3/4" 1-1/2" 4 :
TAPCON® | 1/4 1-3/4 ! DETAIL 1 DETAIL 1 DETAIL 1 T o
EICO o /4" 1-3/4" " 4 INTEGRAL MULLION ATTACHMENT ~ INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT TX—46
ULTRACON PINE MULLION "FusionFrame" MULLION "FusionFrame" BACK-TO-BACK JAMBS SHEET 7 OF 7

© 2017 R.W. BUILDING CONBULTANTS ING.




